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QUESTION 1

Review the following model: 

Based on the model shown above, which table(s) will exist following a build generated database? 

A. EntityOne and EntityOneExtension 

B. EntityOne only 

C. EntityOneExtension only 

D. The build will fail because extending an entity is not allowed 

Correct Answer: B 

 

QUESTION 2

Which of the following scenarios would depend on using the MENU element? 

A. Configuring a control at page-title level with 3 options for the user to select. 

B. Defining a modal page that is part of a wizard. 

C. Specifying that a field in a LIST should contain one or more ACTION_CONTROL elements. 

D. Defining which sections users can navigate to in the Applications Section Bar. 

E. Providing the user with in-page navigation links. 

Correct Answer: BE 
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QUESTION 3

Which of the following statements about aggregation in Cúram are correct? Which of the following statements about
aggregation in Cúram are correct? 

A. An entity may aggregate another entity. 

B. A struct may aggregate an entity. 

C. A struct may aggregate another struct. 

D. An entity may aggregate a struct. 

Correct Answer: BC 

 

QUESTION 4

Suppose that a new Process class has been created in a model and a build generated command is performed. What
needs to be done next? 

A. Implement the methods in the generated impl version of the class. 

B. Copy the generated impl class from the build/svr/gen/temp folder into the impl package. 

C. Create a new class in the impl package. 

D. Implement the modeled methods in the base class. 

Correct Answer: C 

 

QUESTION 5

Which of the following are valid subdirectories of a server component directory? 

A. model 

B. codetable 

C. database 

D. EJBserver 

E. message 

Correct Answer: ABE 
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